Тестовые задания
	I вариант
	II вариант
	III вариант
	IV вариант

	1.Упростите выражение

	3ах2 · ( - 
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2

а2сх3)

А)-2 а2сх6  Б) -2 а3сх5
В) -2 а3х5   Г) 2 а3сх5   
	5а2b · (-0,4 а4bс3)
А) -2а8bс3   Б) -2а6b2с3  

В) -2а8b2с3  Г) 2а6b2с3
	4ах3 · (- 0,25а2сх2)
А)- а2сх5   Б) а2сх5
В) - а3сх5  Г) - а3сх6  
	5а3b · (- 0,6а2bс4).
А. -3а5 bс4  Б) -3а5 b 2с4
В) 3а5 b 2с4  Г)-2а6 b 2с4  

	         (-а2с)5
А) – а7с6  Б) а10с5
В. - а10с5  Г) – а7с6
	(-а3с2)4
А) – а7с6   Б) а12с8
В. - а12с8  Г) а7с6
	(-а3с)4
А) – а12с4  Б) а7с4

В. - а7с4    Г) а12с4

	(-а2с3)5
А) – а7с8   Б) а10с15

В) - а10с15  Г) а7с8

	Какой из указанных ниже одночленов А удовлетворяет равенству

	81 а4b6 = А2
А) А = 9а2b4
 Б) А = 9а2b3

В) А = -9 аb3

Г) А = 27 а2b3
	64у8z6 = А2
А) А = 8у6z4

Б) А = - 8у4z3

В) А = - 8у4z4

Г) ) А = 32у4z3
	49 а4b6 = А2
А) А = - 7а2b4
 Б) А = -7а2b3

В) А = 7а2b4
Г) А = 24,5 а2b3
	49 а6b8 = А2
А) А = 5а3b4
 Б) А = 5а4b6

В) А = 5а4b4
Г) А = - 5 а3b6
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